=2 (0}
[HHA 3, Fo}]
V3 V3B V3 23
Oy=Fery  @y=For T
@yz?m—i-\/?; @yzﬂmﬂ-?
® y=V3z+3
(71€7])= tan 30° = % = ?

V3
=g
2V/3
b=
3\/_
3
LY = T+

o ™A R =0l hE? (B, V3=1.7)

A

ﬁ
h
pta0’ 60° |

“~30m-"C D
M 3, ]

@ 21.5m @ 22.5m ® 23.5m

/BAC = 30° o] &
BC = AC = 30(m)
AACD oA

h = 30sin 60°

3
:30x§

=153
=15 x 1.7 = 25.5(m)
. h=255m




3. & ¥4 AABC 9] Yo7} 60v/3cm?
o] 3t tstodet

g o, x

[¥i 3, &3}

(]
H -

’ C
> ®et: 20em

L

B

1
60\/3:5 X z X 12 X sin 60°
V3

1
:§X$X12X7

= 3v/3z
603 _

w= e 20(cm)

4. cos60° x tan45° = sin 60° & AAISHH?

Hi3 3, S5t
O V6 @ \/76 ® ?
V3 V6
Ok © 5
cos 60° x tan 45° = sin 60° = % x 1+ \/75 = \/?E

the 27 HEYA §lo] WAZY Pol7k 1 A A
2 2 1% Aok, A4
ol o £} o2& c|zke] 271E A7} A, B

yA m
Yo === - -
Yo oo = !
y RIP
yz::_r_::k:
A :
N .
0 LT, T, T
i 3, &5t
X
@ y? +23 @) yQXy_i ® yi+a?
X
(@)%xyj G B2
x3 T1 Y4

sin A =y, cosA=xs

sin B =ys3, cos B =z,

tan A = y—l, Yo, e
T2 Z3

tan B = @, y_47

1 X2

@D sin? A+cos?A=1
1
tan A =1
@ tan X —
® sin? B+cos?B =1
@ tan B x tan A # 1

1
tan B =1
& e tan B

Ys




6. T2 133 72 AABC oA sinz x cosz X tanz 2]
& oot

(B4 3, S5t

> E:
144

pal=
|> OHE = _169

B

ADBE @ ACBA (AA 22)

=1

o LC=x
BC = V122 4+ 52 = /169 = 13
. AB 12
SINY — — — —
BC 13
AC 5
COSY = —— = —
BC 13
AB 12
tanx = A=C = E
sinx X cosx X tanx 144
- _ dee
.. sinx a8 169

7. o2 1989 AABC oA 4B =135°, BC = 8cm
AABC 9] Yol7t 40v2em? & o, z 9] gh2 -5t

“~8cm”

(Bl 3, 53}

(AABC 9] W ol
= % X 8 X x X sin(180° — 135°)
= 40V/2
2v2z = 40V/2
c.x=20(cm)

45° < < 90° ola Al wWo] Zo|s}
sinz, cosz, tanz 9 ZZAZFIL off, » 9
Jotoet. (B 3, %3}]

[= ]

[ 2
> =g 45°

=
=1

B

45° < 2 < 90° oA tanz o] Frol 7 I B2

tan2z = sin?z + cos? z = 1

tanx =1 (.-

c.x=45°

tanz > 0)




S 1389 472 ABC oA /B =30°, ZC =45°
0|11 AH1BC o]t} AH = 8cm ¥ o], AABC 9] &
o|& Ftotofet.
A
4
B 0 i-I 45N C

[HH 3, S5t

tan30° = A=H
_BH /3
AH 3
" tan30° _iT 1_ 8\/3( o)
ZCAH =45°, CH = AH = 8(cm)

BC = 8v/3+ 8(cm)

(AABCS] 4

°])z(8x/§+8)><8><%

= 4(8v/3 + 8)

= 32(v/3 + 1)(cm?

)

10. the SATiel B Yol & Tatoiel.
i 3
> E:
> HE: 6v/3cm?

cos 60° =

AH = KBsin60° = 4 x 2 — 2/3(cm)

BH = ABcos60° = 4 x % = 2(cm)
AD=5-2x2=1(cm)
- (50) = (1+45) x 23 x 3 = 6v/3(em?)




